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Directions: 

1) You must show all your work to obtain full credit. 

2) You are allowed to use electronic calculators and other reasonable writing accessories that help write the exam. 
3) Do not keep your mobile with you during the exam, turn off your mobile and leave it aside

	Question No
	Marks 
	Marks Obtained
	Question No
	Marks
	Marks Obtained 

	Q1 

	3
	
	Q7

	2+3
	

	Q2
	5
	
	Q8
	3
	

	Q3
	4
	
	Q9
	4
	

	Q4
	5
	
	Q10
	2+3+2
	

	Q5
	5
	
	Q11
	4
	

	Q6
	2
	
	Q12
	3
	

	Total
	
	
	
	50
	


1. Suppose that the cost of attending a technical college at present is $21,500. Assuming a 6% inflation rate compounded quarterly for this cost, find the college cost after 10 years.

2. A debt of $7000 due in five years is to be repaid by a payment $3000 now and a second payment at the end of five years. How much the second payment should be if the interest rate is 8% compounded monthly?

3.  If interest is compounded continuously at an annual rate of 0.07, how many years would it take for a principal P to triple? Give your answer to the nearest year.

4. A company wishes to lease temporary office space for a period of six months. The rental fee is $1500 a month, payable in advance. Suppose that the company wants to make a lump-sum payment, at the beginning of the rental period, to cover all rental fees due over the six-month period. If money is worth 9% compounded monthly, how much should the payment be?

5. A paper company is considering the purchase of a forest that is estimated to yield an annual return of $50,000 for 10 years, after which the forest will have no value. The company wants to earn 8% on its investment and also set up a sinking fund to replace the purchase price. If money is placed in the fund at the end of each year and earns 6% compounded annually, find the price the company should pay for the forest. Round your answer to the nearest hundred dollars.

6. A softball league has seven teams, in terms of first, second, and third place, in how many ways can the season end? Assume that there are no ties.
7. A cartoon contains 24 light bulbs, one of which is defective. 
a. In how many ways can three bulbs be selected? 

b. In how many ways can three bulbs be selected if one is defective?

8. A tour operator has three vans and each can accommodate seven tourists. Suppose fourteen people arrive for a city sightseeing tour and the operator will use only two vans. In how many ways can the operator assign the people to the vans?

9. A certain antibiotic is effective for 75% of the people who take it. Suppose four persons take this drug. What is the probability that it will be effective for at least three of them?

10. Customers who purchase a certain make of a car can order engine in one of the two sizes. Of all cars sold, 45% have the smallest engine, 55% have the medium or largest. Of cars with the smallest engine, 10% fail an emission test within two years of purchase, while those with the medium or largest size engine 13% fail an emission test. 

a. What is the probability that a car is small sized and fail an emission test? 
b. What is the probability that a car fail an emission test? 
c. A record of cars that failed emission test is chosen at random. What is the probability that it is for a car with smallest engine? 
11. There are 300 students in a Math course of which 125 are Management students and remaining Finance students. It is known that 70 percent of Management and 40 percent of the Finance students have their driver’s license. If a student is selected at random from this math course, what is the probability that the student is a Management student and has a driver license? 

12. A day’s production of 950 manufactured parts contains 50 parts that are considered to be defective. Three parts are selected randomly without replacement from the batch. What is the probability that the first part is not defective and the 2nd and 3rd are defective.
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